
JACK 
90x200 cm  

24180018/01

60
mm

cm
1/17



OPTION A

2/17

OPTION B



3/17

3 5

5

3

10

10

11

12

12

10

10

9

8

7

7

4

4

4

4

6

6

3

1

2

M6x60 mm M6x40 mm

PVC 8 mmPVC 36 mmL 120 mm PVC 4 mm

OK 43.5x30 mm

3x30 mm

M6x10x14 mm M6x50mm

A

E

L M N

F

G

G1

H I J

K

B

C D

Kom. 4 Kom. 18

x 1 x 2

x 1

x 21

x 28 x 16

x 21

x 18x 21x 1

x 68

x 16

x 1

F7x50 mm

F8x35 mm F12x60 mm

1000x600x70

MASS

1000x600x70

1000x600x70

410x70x70

1960x120x25

1960x150x25

1960x150x25

1510x120x25

1350x80x25

400x50x25

1350x80x25

898x47x20

2

1

3

4
5
6
7
8
9
10
11
12

2x

1x

1x

4x

2x

2x

2x

1x

1x

4x

1x

34x

Teile
NR

ANZ. Colli.

1/3

1/3

1/3

1/3

2/3

2/3

2/3

2/3

2/3

2/3

2/3

3/3



4/17

5

7

8

6 X2

X2

X2

L

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H
1

F8x35 mm x 28



5/17

2

1

3

3

2

D

G1

G1

D

D

G1

G1

D

D

D

D

D

D

D

D

DD

D

D

D

D

D

D

DG1 I

x 21x 4 x 8

I I

I

I I

I

II

D

M6x50mm

G1

I

I

F12x60 mm3x30 mm



6/17

3

1

6

7

5

2
E

K

E

D

E

E

E

E

E

E

E

E K

x 10 x 1
L 120 mm



7/17

4

2

3

5

7

6

3

K
D

E
E

E

E

E

E

E

E

EE

E K

x 10 x 1L 120 mm



8/17

5

4

4

4

4

G1

G1

G1G1

G1

G1

G1

G1

G1

G1

G1

G1

G1

IG1

x 8x 12 F12x60 mm

I
I

I I

I

I I

I I

I

3x30 mm

G1



9/17

F

J

N

F+N

F+N

F+N

F+N

F+N

F+N

F+N

F+N

6

09

10

10

10

10

11

F7x50 mm x 16 x 16

x 1

F

J

N

PVC 4 mm

OK 4



B
A

J

J
N

F

C

A

F+N

F+N

A C

JE

B

N

F

M6x60 mm M6x10x14 mm

OK4

M6x40 mm

PVC 4 mm

F7x50 mm

x1 x1

x1x1

x2

x2

x2

7
OPTION_A

8

E

B

C

E

10/17



11/17

8

M

M

M

M ML

M

L

L

L

L

L

L

L

L

L

L

L

L

PVC 36 mm PVC 8 mmx 21 x 4



9

G

G

G

G

12

12

12

12

G

G

G

G

G

3.5x30 mm x68

12/17



13/17
7

8

M6x60 mm M6x40 mm M6x10x14 mm

PVC 4 mm

OK 4

A

E F J

B C

N

F+N

A

B

B

F+N

x 1

x 1

x 2

x 2

x 1

x 2

x 1
F7x50 mm

7

C

C

J

J

F

N

A

E

OPTION_B



8

ML

PVC 8 mmPVC 36 mm x4x21
M

M

M
M

M

M

L

L

L

L

L

L

L

L

L

L

L

L

14/17



9

G

G

G

G

12

12

12

12

G

G

G

G

G

3.5x30 mm x68

15/17



-/.4!'%!.,%)45.'%.
7)#(4)' ɀ 3/2'&?,4)' ,%3%. ɀ :5- 30?4%2%. .!#(3#(,!'%. 

!5&"%7!(2%.
a) WARNHINWEIS   „Hochbetten und das obere Bett von Etagenbetten sind  für
Kinder unter 6 Jahren aufgrund der  Verletzungsgefahr durch Herabfallen nicht
geeignet " ;

ÂɊ WARNHINWEIS  „ Bei unsachgemäßem Gebrauch können Etagenbetten und 
Hochbetten  eine ernste Verletzungsgefahr durch Strangulation  darstellen. 
Gegenstände die nicht für den Gebrauch mit dem Bett bestimmt sind , dürfen 
niemals an einem Teil des Etagenbettes befestigt oder aufgehängt werden , dies 
gilt z.B., aber nicht ausschließlich , für Seite , Schnüre ,Kordeln , Haken , Gürtel 
und 4aschen " ;

ÃɊ WARNHINWEIS „Kinder können zwischen dem Bett und der Wand, einer 
Dachschräge, der Zimmerdecke , angrenzenden EinrichtungsgegenstßÎÄÅÎ  (z. B. 
Schränken) und usw. eingeklemmt werden. Um ÅÒÎÓÔÅ 6ÅÒÌÅÔÚÕÎÇÓÇÅÆÁÈÒ ÚÕ 
ÖÅÒÍÅÉÄÅÎ ȟ ÄÁÒÆ ÄÅÒ !ÂÓÔÁÎÄ Ú×ÉÓÃÈÅÎ ÄÅÒ /ÂÅÒËÁÎÔÅ ÄÅÒ !ÂÓÔÕÒÚÓÉÃÈÅÒÕÎÇ ÕÎÄ 
ÄÅÒ ÁÎÇÒÅÎÚÅÎÄÅÎ 3ÔÒÕËÔÕÒ χυ ÍÍ ÎÉÃÈÔ İÂÅÒÓÃÈÒÅÉÔÅÎ ÏÄÅÒ ÍÕÓÓ ÇÒÏħÅÒ ÓÅÉÎ ÁÌÓ 
ςσπ ÍÍͼ Ƞ

ÄɊ WARNHINWEIS   $as Etagenbett/Hochbett ÄÁÒÆ nicht ÂÅÎÕÔÚÔ ×ÅÒÄÅÎ , wenn 
ein ËÏÎÓÔÒÕËÔÉÖÅÓ "ÁÕÔÅÉÌ ÂÅÓÃÈßÄÉÇÔ ÉÓÔ ÏÄÅÒ ÆÅÈÌÔ Ƞ 
1) Befolgen Sie stets die Anweisungen des Herstellers.
2) Die empfohlene Matratzengröße beträgt 90 x 200 cm
3) Die Belüftung des Raumes ist notwendig, um die Luftfeuchtigkeit niedrig zu
halten und Schimmel im und um das Bett herum zu verhindern.
4) Die maximale Dicke der Matratze beträgt 14 cm. Die Oberseite der Matratze
darf nicht über die Markierung an den Bettpfosten hinausragen. Damit die Höhe
des Sicherheitsbügels über der Matratze ausreichend ist, sind die Bettpfosten am
Oberbett „3“ mit einer Linie markiert. Dies ist der höchste Punkt, den die
Matratze erreichen kann. Stellen Sie sicher, dass Sie Ihrem Kind zeigen, wie es
sicher die Leiter hinaufsteigt. Benutzen Sie Schreibtische oder Regale nicht als
Leitern.
5) Sämtliches Befestigungsmaterial für die Montage muss ordnungsgemäß
festgezogen sein. Stellen Sie sicher, dass keine Beschläge locker sind.
6) Nur mit einem Staubwedel oder einem leicht feuchten Tuch reinigen.
Verwenden Sie keine scheuernden Reinigungsmittel.

7) Gemäß der Norm EN - 747 -1: 2012+Al: 2015

16/17



INSTRUCTIONS FOR USE 

IMPORTATNT  - READ CAREFULLY - RETAIN FOR FUTURE REFERENCE 

a) WARNING " High beds and upper beds are not suitable for children under six years due to risk of

injury from falls " ;

b) WARNING " Bunk beds and high beds can present a serious risk of injury from strangulation if not

used correctly . never attach or hang items to any part of bunk bed that are not designed to be used 

with  the bed , for example , but not limited to ropes , strings , cords , hooks , belsts and bags"

c) WARNING " Children can becom trapped between the bed and the wall , a roof pitch , the ceiling ,

adjoining pieces of furniture ( e.g. cupboards ) and like .To avoid risk of serious injury the distance 

between the top safety barrier and the adjoining structure shall not exceed 75 mm or shall be more 

than 230 mm ";

d) WARNING  Do not use the bunk bed /high bed if any structural part is broken or missing  ;

1) always follow the manufacturers instructions ;

2) the recomended size of mattress (es ) is 90x200 cm

3) ventilation of room is nesessary in order to keep the humidity low to prevent mould in and

around the bed ;

4) the maximum thickness of the mattress  is 14 cm . The top of the mattress must not extend

beyond the marking on the bed posts. To ensure that the height of the safety bar above the mattress 

is sufficient, the bed posts on the upper bed "3" are marked with a line. This is the highest point the 

mattress can reach. Make sure you show your child how to climb the ladder safely. Do not use desks 

or shelves as ladders.

5) All fastening material for assembly must be properly tightened. Make sure that no fittings are

loose.

6) Only clean with a duster or slightly damp cloth. Do not use abrasive cleaning agents.

7) According to the standard     EN - 747 -1: 2012+Al: 2015

17/17


	ŠM - JACK 14-03-2024..
	Krevet Jack prvi dio
	1-12 
	2-12
	3-12
	4-12
	5-12
	6-12
	7-12
	8-12
	9-12

	Krevet Jack drugi dio
	11-12
	10-12


	tekst
	Blank Page
	Blank Page




